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(a) Time Complexity

(f) Full Binary Tree

(k) big-O HYER

(b) Space Complexity

(g) Complete Binary Tree
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(c) Stack

(h) Array
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(d) Queue

(i) Linked List

(e) Binary Tree

(j) Directed Graph
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(a) A+C*D-B
MA+B-C*D/E+F
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(a) insert sort
(b) quick sort
(c) merger sort
(d) heap sort °
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Figure 1.
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class TreeNode{
public:
TreeNode(int v, TreeNode* |, TreeNode* r){
value = v; leftChild = I; rightChild =r;}

int value;

TreeNode *leftChild, *rightChild,
|5
TreeNode *root;
root = new TreeNode (33, NULL, NULL);
root->rightChild = new TreeNode (44, NULL, NULL);
root->rightChild->leftChild = new TreeNode (55, NULL, NULL);
root = new TreeNode (11, root, new Tree(22, NULL, NULL));
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